Entry-Level
Assessment

Multiple Choice

Read each question. Then write the letter of the correct
answer on your paper.

1. Sophia had $50 she put into a savings account. If she
saves $15 per week for one year, how much will she

have saved altogether?
@ $50 @ $780
$65 D> $830

2. Which set below is the domain of
{(2, —3),(-1,0),(0,4), (—1,5), (4, —2)}?
@ {-3,0,4,5 -2} D {2,-1,4}
@ {-3,4,5 -2} > {2,-1,0,4}

3. Which ordered pair is the solution of the system of
equations graphed below?

[] iz
|

H

[=6 /1 4
L]
1T V.
LW T5% 1|
@ (4,1) © (4,2)
@ (1,4) @ (2,4)

4. The Martins keep goats and chickens on their farm. If
there are 23 animals with a total of 74 legs, how many
of each type of animal are there?

(P> 14 chickens, 9 goats
(&> 19 chickens, 4 goats
(D> 9 chickens, 14 goats
(1D 4 chickens, 19 goats
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5. Which equation represents the phrase “six more than
twice a number is 72”72

G 6+x=72
B 2x=6+T72

@ 2+ 6x =72
D 6+2x=72

6. Which of the following graphs best rem

walking slowly and then speeding up?
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7. The graph below shows the time it takes Sam to get
from his car to the mall door.
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Which of the following best describes the x-intercept?
(&> Sam's car was parked 24 ft from the mall door.
After 24 s, Sam reached the mall door.
(> Sam’s car was parked 8 ft from the mall door.
(D> After 8 s, Sam reached the mall door.

8. Whatis 23.7 X 10% written in standard notation?
> 0.00237
& 0.0237
CH> 237,000
D 2,370,000
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9. What equation do you get when you solve
2x + 3y = 12 for y?

®y=—§x+4
@® y=-3x+12
©y=-2x+12
@ y=12-2x

10. The formula for the circumference of a circle is
C = 2zr. What is the formula solved for r?

FOr=C+2rn @ r=2r
C
@ r=3 @ r=F
11. Which table of values was used to make the
following graph?
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12. A jewelry store marks up the price of a topazring
215%. The store paid $70 for the ring. For how much is

the store selling the ring?
@ $91.50 D> $161.50
@ $150.50 ' D $220.50

13. What is the solution of —3p + 4 < 227

@ p< -6 O© p<18
p>—6 @ p>18
14. Which of the graphs below shows the solution of
-5 + x > 8?
24 6 8 10 12 14
2 4 6 8 10 12 14
A O
4 6 8 10 12 14
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S 4 6 8 10 12 14
15. Between which two whole numbers does V85 fall?

A 8and9 @ 41and 42
9and 10 (D> 42and 43

16. What is the simplified form of ‘(32;; (2)2 ?
D 3 ® 5
@ 3 @ 3

17. Which of the following expressions is equivalent to :—2 ?
& 4% «® 42
o @ 4

18. What is 40,500,000 written in scientific notation?
@ 4.05 X 107 @D 4.05 X 1078
G 4.05 X 108 D 4.05 X 1077

19. There are 3% c of flour, 1% c of sugar, % c of brown sugar,
and 41 c of oil in a cake mix. How many cups of
ingredients are there in all?

@ 43¢ @© ske
@ 5gc¢ @ 6
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for 15 min at a rate of 6 mi/h. How many miles did she

run in all?
> 2.75mi D 4.25 mi
& 4.375 mi D 5.75 mi

21. A 6-ft-tall man casts a shadow that is 9 ft long. At the

is the tree?
@A 32ft O 45ft
@B 36ft D 72t

22. Triangle ABC s similar to triangle DEF. What is x?

c
F
20 32 2
X
A B D E

@7 @ 15
@ 12 D 27
23. Which side lengths given below can form a right
triangle?
@A 12,13,17
3.2,5.6,6.4
@© 14,20,24
D 10,24,26

24. The formula F = % C + 32 converts temperatures
in degrees Celsius C to temperatures in degrees
Fahrenheit F. What is 35°C in degrees Fahrenheit?

B 20°F @D 95°F
@ 67°F D 120°F
25. A bowling ball is traveling at 15 mi/h when it hits the

second? (Hint: 1 mi = 5280 ft)
A 11ft/s

88 ft/s

© 22ft/s

D> 1320 ft/s
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20. Cathy ran for 30 min at a rate of 5.5 mi/h. Then she ran

same time, a tree nearby casts a 48 ft shadow. How tall

pins. How fast is the bowling ball traveling in feet per

26. What is the median of the tree height data displayed in

the box-and-whisker plot below?
Tree Height (ft)
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27. Helena tracked the number of hours she spent
working on a science experiment each day in the

scatter plot below.
Time Spent on Science Experiment
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Between which two days was there the greatest
increase in the number of hours Helena spent working
on her science experiment?

CA> Day2and3
Day7and8
C© Day5and 6
(D> Day9and 10
28. Your grades on four exams are 78, 85, 97, and 92.

What grade do you need on the next exam to have an
average of 90 on the five exams?

D! @ 98
@ 92 D 100
29. The number of points scored by a basketball

team during the first 8 games of the season are
shown below.

65 58 72 74 82 67 75 71

How much will their average game score increase by if
the team scores 93 points in the next game?

@ 25 @ 11.6
10.5 D 195
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